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Ouestion Number ¢ 1 Quoestion [d : 6589883890 Cuestbon Type : MO Optlon Shalfling : Yes DMsplay OQuiestbon Number @ Yes
Single Line Question Cpibon @ Mo Option Orientation @ YVertical Allowed Progression @ Yes Muomber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Cestion Label : Multiple Choice Cuestion

Which country launched a satellite swhiach aimes to deliver the vwold's Hrst
artificial metear shoveer 7

five 9w 21 srafve o= fsm oon ogaen g off ool aemadt Aifear e
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U.S A
o THO

Japan
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China

Trucdia
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Oueestion Number : 2 Question Id : 6589883891 (uesthon Type : MO Option ShuiTling : Yes DMsplay CQuestbon Number @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Cuestion Label © Multiple Chowce Question
The narine influence of climate results into
Ao W WG AT IR ER R

Options =
Increase in rainfall

y T A g

Increaze in andib-

o TR e

Increase in ammal range of tenperature
5 Wi orrr i A

Decreaze in annual range of temperature
o T T A

Ouestion Number : 3 Question Id : 6589883892 Chuestion Type : MO Option Shuffling : Yes Display Question Number @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allvwed Progression : Yes Mumber of Replay : 999 Play On Load :
No Control Enable @ Yes

Correct Marks : 3 YWrong Marks @
Cuestion Labeal © Mudtiple Choice Ouestion
On the basis of distrbution, wrandum resources are classified as
farn b smre e, qefrgE aemrr fa s # adfige fva om &
Oiptions =

Uhiquities

;g
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Communomalibies
2 T O RTH

Farities

ooty
3. L

Uniquities
Alareg

Ouestion Number ; 4 Question [d ;: 6580883893 Guestion Type : MOOQ Option Shalfling : Yes Display Question Somber @ Yes
rs;ingll_; Li:lr',l%nﬁ;lhn gpl*'run i Mo Option Orrientation ; Yerfical Allowed Progression ; Yes Nomber of Beplay ; 999 Play On Lood ;
v Unmt mnble : Yes

Correct Marks : 3 Wrong Murks ; 1

Cuestion Label : Multiple Choice Question

Which state i India is the top oilseeds producer (2018) ?
HIXE H DIF-31 deles @1 wdred goars+ (2018) 7 ?

Oiptions ;
Fajasthan

1 CiE b

Madhya Pradesh
o TEN WET

MMaharashiva
HEM

Cujaat

AT
g%

Cuestion Number : 5 Question Id : 6589883894 CQuestion Type : MOQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line OQuestion Option @ Mo Option Orientation : YVertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choice Question

Whuch of Eiefnﬁlmvmgls the luEhEE.t Er.‘t&,eh‘tmum '

Ffaftan o @ o o%mm T2 S I U R 7

Oiptions ;

Magnetite

L ek Tt ot

i
Henatite

5 L | T feled
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Cuiestion Number @ & Quoestion [d : 6589883895 Cuestien Type : MO Optlon Shaifling : Yes DMsplay Cuestion Nomber @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay 1 999 Play On Loead -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Muiltiple Choice Cuestion

Which of the follovwing industries has the global trend of shifting to coastal
locations 7
Freafafta 5 @ e seam o Sfes aiisf smgodn sl o are saten e
T
Options ;

Textile

2
i

Iron ¥z Sieel
HIE T 3

Tea
Gk

Electrical Engineering
farer melifFar

Cuestion Number : 7 Queestion Id : G5898E3R0G Question Type : MOQ Option Shoffling : Yes Display Question Momber @ Yes
Single Line CQuestion Option @ Mo Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cuestion Label - Multiple Chaice Question

Acrording to World Bank's Ease of Doing Business Report, 2013 India's rank
among 190 countizes has mpeoved froen 130 to

i d® @ = e e @w s g foe foe) 2018 & e @
e 19029 5 A & 0 H 1309 e A e w0, e w8
Oiptions :

125

|
2.1]]

110
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Cuestion Number : 8 Question Id : 65R9ERIRGT Question Type : MOQ Option Shoifling : Yes Display Question Number @ Yes
Single Line Question Cptlon : Mo Option Orientatlon : Vertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label : Multiple Choice Question
To wihuch of the following games HOPMAN CUP is related 7
HOPMAN CUP fr=ifafas &1 91 fem we o watam & 7
Options =

Hockey
3. B

Foothall
2, e
Tennis

g T

Badminton

4 ABPEE

Question Number ; 9 Question Id ; 6389ERIBIE Question Type : MOQ Oplien Shuffling : Yes Display Cestion Number : Yes
ﬁi;lglr Line %uw.:l'lii.ln Epl.wn ¢ Mo Diption Orientation : YVertical Allowed ression ; Yes Nnmhru{ Beplay : 999 Play On Losd :
v Control Enable : Yes

Correct Marks : 3 Wroog Marks ; 1
Cuestion Label - Multiple Choice Question
Who among the tollowing won the Noble Prize 2013 for Economic Sciences ?
F=ifaftan 5 &1 fves snfdr Frmm o0 e e 2018 smer five 7
Oplions -
William D. Nordhaus (USA )
i PR o i (o 9o )
James Alhson (U.5.A.)
5 SR PN (o 9o Do)
Arthur Aslan (US.A )
g MR giE (4o wHo o)
Francis Amold (LIS A
4, it s (go wHe o)

Ouiestion Mumber @ 10 Question Ld : 63898899 (Questbon Type @ MOOQ Option Shuffling : Yes Display Question Number @ Yes
Single Line Question Option : No Option Orientation : Yertical Allowed Progression : Yes Nomber of Heplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Cestion Label ; Multiple Choice Question
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Atwhich of the follovwing places First Raulway Uriversiti has been establizshed ?
wer Yo fvafewern, Frefafao wos 8§ O o wafm fvn o & 7
Options =
Chennou
j, W

Vadodara
2 i bl =k

Pune
4. 3"

Ouiestion Number : 11 Question Id : 6359883900 Cuestion Type : MOOQ Optlon Shoffling : Yes Display Cuestlon Mumber @ Yes
Single Line Question Cpilon @ Mo Option Orientatlon : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label : Multiple Choice Question

Whuch one af the followang 1= (10 terns ol area) the largest UNESCO approved
bioephere reserve of India ?
Preafaften 8 o o g g amfte (@seer oft gie @) e 9 geoe elim
ATHEE B 7
Oiplions =

Nilgini
y iR

Manda Devi
E EH A

Sunderivan
=T

Guilf of Mannar
o T o

Oestion Mumber : 12 Quesiion Td : ASR9EEI01 Cruestion Type < MO Opiion Shaifling : Yes Display Cuuestion Number : Yes
ﬁ:‘nallze Lim%mll;liun Chption ¢ Mo Option Oreientation @ Vertical Allowed Progression : Yes Nuomber of Replay 0 999 Play On Laoad -
ant mihle :

Correct Marks : 3 Wrong Marks ¢ 1
Cuestion Label © Multiple Chowce Cuestion

Which of the following nucro organism are used as biofertilizer ?
FfafiEa A 3 Wi e o waem W 5a B f

Ohptions :
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Cvano bacteria

¢ T E B |

Virus
L

Wone of the three

qfl“"-ﬁilﬂq?'ra*}rrﬁ

Ouestion Number @ 13 Question Id : 6559883902 (ruestion Type : MOQ Option Shuffling : Yes Display Cruestion Number @ Yes
Single Line Question Cpiion @ Mo Option Orientation : Vertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label © Multiple Choice Cuesticn

Whach one of the following Asticles of Indian Constitution provides for All
India Services 7
WA T ® fm aEew o s AfEs | dmen w aeere fEno e

g7

Oipiions :
Article 310
=i 310

Article 311
sFeoa 311

Article 312
e 312

Agticle 313
oy 313

Oueestion Nomber : 14 Question Td : GSRYERIS0E Question Type : MOQ Optien Shalfling : Yes Display Question Samber : Yes
iijnﬂ: an%m\:lhn Crptinn + Mo Option Orientation @ Yertical Allowed Progresion : Yes Nomber of Reply 2 999 Play On Lo :
Cont ke

Correct Marks : 3 Wrong Marks 1 1
Question Label | Multiple Choice Question
Whach at the tollowing arganelle 15 called the Povwer House of the Cells 7
Oprions =
Riboeanse

, A
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Mitochondrion

HreernifTem
5 5

<

Owestion Number ; 15 Ooestion Ld : 6580883004 Questinn Type @ MOO Oplion Shaffling @ Yes Displa
Single Line Ouestion Crption ; Mo Option Orientation ; Vertical Allowed Progresson ; Yes Namber of
No Control Enable : Yes

Correct Marks : 3 Wrong Murks ; 1
Cuestion Label : Multiple Choice Question

Which at the tollovwing parts af potato is edible ?
etor B E L T 0 MU B 0 S 1 1 s 1 R B

Ceall membrane
71 B e

Centrosome
A=

Options ;

Skemy

Frut
L I |

Cuestion Nomber @ Yes
iephy;ﬁ“ﬂ Play On Load :

Omestion Number ; 16 Question [d ; 6589883905 OQuestion Type - MOQ Option Shalfling : Yes Display Question Mumber : Yes
Single Linge Question Opdion © No Option Orientation : Yertical Allvwed Progression : Yes Nomber of Replay 2 999 Play On Lo :

Mo Control Enable : Yes

Correct Marks : 3 Wrong Morks ;1

Cuestion Label - Multiple Chaowce Question

The agro-ecological regions of the countny are :
I H LT e &t R B

Oipilons =

1,

2

L

5

17

15

~

-
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Orestion Number : 17 Question Td : ASROREIR06 CGuestion Type : MOQ Option ShalTling : Yes Display Question Number : Yes
Eimllzt l.lml%uﬂ':lhn Eplhm ¢ Mo Option Orientation : Vertical Allowed Progresdon : Yes Nomber of Replay : 999 Play On Logad -
v [ ont able : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chowce Cuestion
In which of the following vear GDP grovwth rate i India was the highest ?
R # | five a7 s 0 oo So Do ot B o e o ¢
Oiptions :
2013-14
L

201415
2015-16

2016-17

Cruestion Number ; 18 Question T : 65R98E307 Ouestion Type : MOQ Opdicn ShalMing : Yes Display Question Number : Yes
EimllfF !,im%muun i\?pﬂm : Mo Option Orientation @ Vertical Allowed Progression : Yes Nomber of Replay : 999 Py On Lood -
v Cont ahle : Yes

Correct Marks ; 3 Wrong Marks 5 1

Cuestion Label - Multiple Chaowce Question

Which is the nearect planet from the Earth by distance 7
gl oY gfte B gul) o waw gl 1w o g 7

Options =
Vernue

E
1

Mars

Tupiter
e

Mereury

Ouestion Number ; 19 Question [d ; 6389883908 Question Type : MCQ Option Shalfling : Yes Display Question SNamber : Yes
iiqnglc:l,im: {%ur.ﬁl'run ?pljun Mo Owption Orientation © Yertical Allvwed Progresion : Yes Nomber of Beplay ; 999 Play On Load ;
1 ntrol Ennble : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Labl © Mudtple Choce Ouesnon

gcoi legedunias
Il ' L st Siusa et v Plalars

-



Which of the tollowing pair of dizease 1= caused by virus ?
Py o\ e o A aren @ B R 7
Options :
AIDS and Polio
;T A iR

Dhabetes and Chicken Pox
o Hrfadta g e T

Hla-pn!t.lﬁs and Tuberculosiz

3 22 T o O e (v 5

Malara and AIDG

4 HART #W TEE

Cuestion Number ; 200 Question [d 3 6589883909 Question Type : MOCOQ Option Shoffling : Yes Display Question Number : Yes
Single Line Question Cption : Mo Option Orientation ; Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Controd Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choice Question

Which state has density of population more than that o the country ?
fdre oy A GRTEED TR 4Y © e e W sl 8 7

Options =

Topura
Fagn

Goa
14

Kamataka
g T

Girjarat
4 oo

Ouestion Number : 21 Question Id : 6389883910 Cruestion Type : MOQ Option Shuffling : Yes Display Cuestion Number : Yes
Single Line Quoestion Cplion @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Lake] @ Multiple Chowce Cuestion

Vagiebr of which hving things among the lollowing sepresents genetic
bicdiversity 7

Fr=faftm o | fre Gfrs ag (@ sm) @ Rt aafs da Ao
vt o B 7

Oiptions :
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Mango Tree
HI¥ &1 O&

Amamnals
EIEEH

Habitats
e S |

Plants
ey

Oueestion Number : 22 Question Id : 6589883911 (uestion Type = MOOQ Option Shaffling : Yes Display Question Mumber : Yes
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label - Multiple Chowe Cuestion

Which of the following iz mot a process of heat energy transmission 7
i R O s s e e e B R I 7 7
Oiptions ;

ERadiation

1 femer=

Conduction

AT
.

Convection
H9EH
3.

Contrachion
AT

Cuestion Number @ 23 Question Id : 6389883912 (uestion Type : MOQ Option Shoffling : Yes Display Cuestion Mumber @ Yes
Single Line CQuoestion Option | Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Yrong Marks : 1
Cuestion Label - Multiple Chotce Question

TRAI regulates the hunetioning of whach of the following ?
TRAI Fr=forFa 5 9 o wimmem o P g 2 7
Ohptions :

Energy

g o
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International Trade
AT T TR

Telecom

Transpoct
RITER

Cuestion Number @ 24 Question Id : 6589883913 Cuestion Type : MOOQ Option Shoffling : Yes Display Cuestion Mumber @ Yes
Single Line CQuestion Option | Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Yrong Marks @ 1
Zuastion Label - Multiple Choice Question
AIDS virus HIV first starts destroving -
UEW YT UeeNEede grd fEN e g A aem e
Oiptiogns :
B-ymrplocytes
. H- e

T-lymphoevtes

Leucoecytes
= AR
Theembeyeytes
4 HTRIETECT
Sec [l Data and Reasoming
Section Id : GEROEEAS
Secthon Momber : 2
Section type : Omnlise
Mandatory or Optional: Bl andaiory
Mumber of (ynestions: 24
Number of (Juestions to be attempied: 24
Secthon Marks: 72
Desplay Number Panel: Yies
Group All Coestions: Mo

Sub-Section Mumber: i
Sab-Section Id: AARURES3
Ouestion Shuffling Allowed : ¥ies
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Ouestion Number : 25 Question Ld : 6589883914 Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Na Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

In the following question, four words have been given, out of which three are
alike i1 some manmer and the fourth one 15 ditferent Choose out the odd one :

P woel W we e Tom v & e W e oo 9 e B oasn when firs
8| fmm o e i
Options :

Titan

e Tt
l. .l

Mercury
]
o 3

Earth
gt

|upit|!'r
g

Oueestion Number : 26 Question Id : 63898R3S Cruestion Type : MOQ Option Shuffling : Yes Display Question Number : Yes
ﬁingll;e i.lr:;??ua%hn gpﬂm + Mo Oiption Oreientation @ Vertical Allowed Progresion : Yes Namiber of Replay : 999 Play On Load :
o Cont nable @ Yes

Correct Marks : 3 Wrong Marks 1 1

Question Label | Multiple Choice Question

Chooze one out of the four given altermatives, which mentions the guality
conwmen to the theee grven words

e fa A frmen @ v afw s dE R o el o ame e aa
Whieat : Barley : Rice

e

LA I
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Ouestion Number : 27 Question Ld : 6589883906 (Question Type : MOGQ Option Shuffling : Yes Display Cruestbon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

In the follovwng question, four munibers are goven out of wiuch dwee are alike m
some manmer wioale one is dittevent Choose the one whach 12 datterent from the
rezt three

e wen § oaw wean & oag & fres dE fee e w8 swie o e g
G G i G i L e S e

Ohgptions ;
1 Oall

73

Ouiestion Number : 28 Quoestion Dd ; 6389883017 Question Type : MOQ Option ShofTling ; Yes Display Question Namber ; Yoy
ﬁinﬂ(:: Li::'l%uﬁtljun gpl.'mn Mo Owption Orientation © Vertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Load :
v Cond nable : Yes

Correct Marks : 3 Wrong Marks : 1

Cestion Label : Multiple Choice Cuestion

In the following question, four groups of letters are given, Three of them are
alike in certain way while one iz different. Choose the odd one

i b 0 o O I I O s R
v Bt # 1 e w g

Ohptions :

L RIN]

XIFP
i

EEHE

lq_E"i‘-i"R

Oueestion Number : 29 Question L : GSE9REIE Cuestion Type @ MOOQ Option Shnffling : Yes Display Question Number @ Yes
Single Line Question Option : No Option Orientation @ Vertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Juestion Label - Multiple Chowe Question

gcol legedunias
Il ' L st Siusa et v Plalars

-



In the followwing question, a number series is given with one tern miszing
Choose the correct alternative that will continue the same pattemn :

A wee § wom A & g & e oF gn o # 98 fee w gfn oo o
1 YR T

36, 18, 7% (...)

Oplions =

144
I.

2o

Jall
4

Oueestion Number : 3 Quiestion [d ; 6389883919 Question Type : MOQ Option Shoffling : Yes Display Question Namber : Yes
ﬁ:ﬂn.% Lim%uesﬁium ?pﬂm + Mo Option Orientation @ Yertical Allowed Progresion : Yes Nomber ﬂ{l&ph}r 1999 Play On Load :
v Cond mible : Yes

Correct Marks : 3 Wrong Marks : 1

Suestion Label ; Multiple Chotce Question

In the following question, one term in the number series is wrong. Find out the
wrong ferm :

e wes 8 e S 4 U ug ad £ e e s e

121, 143, 165, 186, 209

Options :

3
i 14

165

Ouestion Number : 31 Question Id : 6389883920 Cuestion Type : MOQ Option Shuffling : Yes Display Cuestion Number @ Yes
Single Line Question Option : Mo Option Orientation @ Vertical Allswed Progression @ Yes Noamber of Replay @ 999 Play On Loasd :
Mo Control Enable : Yes

Correct Marks : ¥ Wrong Marks : 1

Cestion Label @ Multiple Choice Cuestion

In a certain code, COMPUTER in swritten as RFUNVONPC. How is MEDICINE
written in the zame code 7

o [Aftee w2 7 COMPUTER ® RFUVQNPC @ &9 4 foem s 8| oot o
% MEDICINE #9 [#am e ¢

{ipiions =

gcollegeduniaa
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EOIDIEEM
, EOIDETFM
MEEDIIOE

MNone of the three

COuestion Number @ 32 Question Id : 6389883921 Cuestion Type : MOOQ Option Shoffling : Yes Display Question Mumber @ Yes
Single Line CQuestion Option | Mo Option Orientation : YVertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
No Control Enable : Yes

Correct Marks 1 3 Yrong Marks @ 1

Cuestion Label - Multiple Choice Question

In a certamn code, TRIPPLE 15 wnitten as SQHOOKD, How 15 DISPOSE wmtten
i that code 7

un fAftem whe 4 TRIPPLE # SQHOOKD # #4 # & wmn #1 g0 wrs &
DISPOSE #% i = 7

Options =

1 CHEONED

5 DS0OESFI

3 ESOPEID

4 MNone at the three

Ouestion Number ; 33 Question 1d : 6589883922 (Question Type : MOOQ Option Shoffling @ Yes Display Question Namber @ Yes
Single Line Question Option ; No Option Orientation ; Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Cuestion Labe] @ Multiple Choice Cuestion

If MISTAKE is coded as 9705412 and NAERED is coded as 34123, then DISTANT
will be coded as

ity MISTAKE @ 9765412 o % 5 wiw [ v & =0 NAKED & 54123 & &5
W wrE [ wm B, o DISTANT 9vg (m smem 7

Oiplinns :

i 37obd55

-

4793165
=

3 3007155

i)
F 47652%
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Ouestion Number @ 34 Question Ld : 6559883923 (Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Caestion Label | Multiple Choice Question

In a certain code 407 means leaves are green’; ‘455 means green iz good and
‘B39 means they ave playmg , Whach digat stands tor leaves m that code ?

s [fver ave 8 67 w weem uiTdl w9 B 485 o WOeE BN aTem B oaim
B Iy s o I o ol P s e (2 (R 7 B U
Oplionns :

T

kY

bt |

Ormeestion Number @ 35 Question [d ; 6580883024 (Question Type : MICQ Opiion Shuifling : Yes Display Question Namber : Yes
ﬁm%: L:m%uasﬁnmﬂphm Mo Option Orientation : Yertical Allowed Progresion : Yes Nomber of Reply : 999 Play On Load ;
o Cond mable

Correct Marks : 3 Wrong Marks 3 1
Cuestion Label : Multiple Choice Cuestion

Looking at a portrait of a man, Harsh said, "His mother is the wite of o
father's son. Brothers and sisters ] have none.” At whose porteait was Harsh

looking ?
op 2fffE o TR W S B A we gl oo e o g o gel) @ o
WA WTE OET 4ER W | e o R S Iy oy 7
Ohptions -
His sen
L
1 1

Hizs couzm
MY TEN IS

Hiz uncle
AT T

Hi= nephety
A A

Oeestion Number ; 36 Question Ld : G389ER3925 OQuestion Type : MOOQ Oplion Shaffling @ Yes Display Question Somber @ Yes
Eingilf l..'r:lrrll’.inﬁl:l'mn ?pl"mn i Mo Option Crientation : YVertical Allowed Progression ; Yes thrdlli&ph}‘ 1999 Play Omn Logd :
w0 Lol mble : Yes

Correct Marks : 3 Wrong Marks ; 1
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Question Label | Multiple Choice Question
Q iz the brother ot B, PP 1= the sizter of Q; T 1= the brother of 5; 5 is the daughter
of K. Whao are the cousinz of Q 7
QEmsmePl g T 5w w5 R e af g Q o oeny 95 W
a7
Opiions =
Rand P
" Ry P

PandT
e
5 I §

Qand T

L |
B.Q

Sand T

¢ 3WT

Oueestion Number : 37 Question Id : 658983926 Cruestion Type : MOQ Option Shuffling : Yes Display Question Number : Yes
ﬁinullf i.l:a??ua%iun $pﬂm + Mo Oiption Orientation @ Vertical Allowed Frogresdon : Yes Nomber of Replay : 999 Play On Load -
o Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label | Multiple Choice Question

There are five different houses, A E inarow Aistothenghtof Band Eis to
the left of C and right of A B i= to the right of D Whach of the houses is in the
middle ?

AREdaaep-amm Wwor i i 2| A B et aqmE CPaf E g A &
a £ 1B, DW A | Eem W e E 7

Options =

A
L

k2

Cueestion Number @ 38 Question Id : 6589883927 Question Type : MO Option Shuffling : Yes Display Question Number @ Yes
Single Line Question Crption : Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuesnon Labe] @ Multiple Chowce CQuestion
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From his house, Lokesh swent 15 ks to the Nerth, Then he turmed West and
covered 10 kms. Then, he turned South and covered 5 kms. Finallv, tuming to
East, he covered 10 kms. In which direction is he from his house ?
T EE F oAmsn 15 frle S W SR W | S 9 w9 W S qE o
10 Rwito w1aqr ) oresErer on wfE3 o o T oem 5 R TR At W g o i
qEa v o 10t mn ge SR R A [ fRm H B Y
Oiplions :

East
g, &N

Wit
s

Naorth
3 arE

g iEm

Oueestion Number 1 39 Question Id : G5898RINIE Cruestion Type : MOQ Option Shuffling : Yes Display Question Number : Yes
ﬂﬂng'l;: l.h::ll%m]:‘iun %pﬂm + Mo Owption Orientation @ YVertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
‘ot Enable : Y

Correct Marks : 3 Wrong Marks ¢ 1
Ciestion Label | Multiple Choice Question
One moming after sunrise, Gopal was standing tacing a pole. The shadow of
the pole tell exactly to his right Which direction was he facing ?
U HEE WAEA T A S W A SR UEd Teh O 97| @9 % P g
i o 98 T8 o ) e fRem | v awe a7
Oiplions :
South
y T

Ea=t
z

West
g iR

Data inadequate
4 A A #

Oestion Number : 40 Question [d : 6589883920 (Question Type : MOQ Option Shalfling : Yes Display Question Number : Yes
Single Line Question Chption : No Option Orientation : Vertical Allowed Progresion : Yes Nomber of Replay : 999 Play On Load -

M Control Enable @ Yes
gml legedunias
Il ' L st Siusa et v Plalars

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Cuestion



How many pairs of letters are there in the word 'CARROT which have as many
letters between them in the word as in the alphabet ?
M@ CARROT # aviHran @ fifaw @ire 8| foed dma 4 9o slem & s avramen
Ha T am g 7
Opiions =

1

I

el

La

Ouicstion Number : 41 Question Id 1 6389883930 (Question Type : MCOQ Option Shuoffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
No Control Enable @ Yes

Correct Marks : 3 YWrong Marks : 1

Cuestion Label - Multiple Choice Questicon

Find the mussing character in the following figure -

Fie spffr 7 g 5w s i
&

Options :

Ouestion Number : 42 Quoestion Id : 6389883931 Question Type : MO Option Shoffling : Yes Display Question Mumber @ Yes
Single Line OQmestion Cption @ No Option Crientation : Vertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Choice Question

The greatest 5-digit number that is exacthy divasible by 10015
53Rl o wEn w21 wea o 100\ dnndns e §

Oyptions :

oo
1 o

gcol legedunias
Il ' L st Siusa et v Plalars
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09300
Q0000

00359

Oueestion Number : 43 Question Td : G53E98RY32 Question Type : MOOQ Optlon Shuffling : Yes Display Questhon Mumber : Yes
Single Line Question Cpiion @ Mo Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks : 1
Cuestion Label © Multiple Chowce Cuestion

If URCPOMTE =tands for COMPUTER., hony 1will vou write RESEARCH 7
gft URCPOMIE, COMPUTER. 7 w1 wwim & o o BESEARCH w1 9 B ¢

Oipiions =
" AHREECRS

> AHREERCS
5 AHREESRC

4 AHREECER

Ouestion Number @ 44 Question Id : 6389883933 (uestion Type : MOQ Option Shuffling : Yes Display Cuestion Number @ Yes
Single Line Question Cption ; Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Logd @
Mo Control Enable : Yes

Correct Marks : ¥ Wrong Marks : 1
Cuestion Latel | Muitiple Choice Cuestion

Which one will come next (7} in the following series 7
F= =l | wE-w (7) s s 7
B2E, D5H, FI2K, H2/N, ?

Options =

Ouestion Number : 45 Question [d : 6589883034 Question Type : MOQ Option Shulfling : Yes Display Question Number : Yes
Single Line Question Crption : No Option Orientation @ Vertical Allowed Progresion @ Yes Number of Replay : 999 Play On Lo :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1

gco! legedunias
Il ' L st Siusa et v Plalars
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Cuestion Label | Multiple Chowce Question

If X% of Y is 100 and Y% of Z 1z 200. find a relationship betveen X and Z -
7 Y @ X%, 100 # vem Z ot Y%, 200 8, XuaZ o & e s #ifsmn
Ciptions :

; Z=X/2

COuiestion Number ¢ d6 Question Td : 6389883935 Question Type : MOOQ Option Shaffling : Yes Display Questhon MNumber @ Yes
Single Line Question Cption @ Mo Option Orientation @ YVertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cuestion Label : Multiple Chotce Question

If = means +, — means +, ¥ means — and + means %, then :

AfE = & WETE +, — T GAAE +, % T WA = UH + T FqoAE < 8, 79
{3oxd)-8x4

7
445x241o+1

Cmestion Number : 47 Quoestion Td : 6389883936 Question Type : MOQ Option Shoffling @ Yes Display Question Momber : Yes
Single Line OQuoestion Cption @ Mo Option Orientation : Yertical Allowed Progression @ Yes NMomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Crpesticn Label @ Mudtiple Chowce Queston

How many 3's are there in the following sequence which are neither preceded

by 6 nor immediately followed by 9 7

MM Aga P33T Medyid eI IFas o & 7
2366395937891 639639

Oiptions :
Oe

{0

gcol legedunias
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Two
o |
3, i+

Four
T

Ouiestion Number : 48 Question [d : A5898E303T Quaestion Type : MOQ Option Shﬂl‘l:‘lhlg Yes Display Quiestion Numher : Yes
Single Line Caestion Crption : No Option Oentation @ YVertical Allowed Progresion § Yes Nomber of Replay : 999 Play On Load :

Mo Controd Ennble : Yes

Correct Marks : 3 Wrong Marks ;1

Suestion Label | Multiple Choice Question

Tl'l-r six faces of a die have been marked with alphabets A, B.C, D.E and F
rezpectively. This die is rolled doven theee tinws. The thvee posibons are shown

g N S Qe i 1 A B, C, D E vg F A ol fen omn # gw oM

o1 I AR SEwr e & ) e Rafia @ Frews e o ® o

& ® @

(1) (i)

Find the alphabet opposite A.

W o s e o

Oipiions =

B

1

P -

5 D

4, E

Sec 111 Cuantitative Ability

Section Id : ASRNEEREL
Section Mumber : 3
Section fype : Cimline
Mandatory or Cpticnal: Blandatory
Number of Questions: 24
Number of Qoestions o be attempied: 24
Section Marks: s
Ihisplay Mumber Pamel: Wes
Group Al CQoestions: Mo

~

-

collegedunia:
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Sub-Section Mumber: 1
Sub-Section Id: LAROSESE

Ouestion Shuffling Allowed : Yies

Ouestion Number : 49 Question Id : G589883038 Question Type : MOGQ Opdlon Shoffling @ Yes DHsplay Question Mumber @ Yes
Single Line Question Cpilon @ Mo Option Orientatlon : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cmestion Label © Multiple Chotce Cuestion

The LCM of two numbers 15 129 and HCF 1z %, If one of the numbers is 864,
then the other is -

a1 WA W @geE WA 1200 § ten wETe s 9o ® | A 0w e
Sod & gEd W B

Oiptions :

i

§ &

I

2

144

1lood

Cuestion Number : 30 Question Id : 6589883939 CQuestion Type : MOOQ Option Shoffling @ Yes Display Question Nomber @ Yos
Single Line Question Option @ Mo Option Orientation ;: Vertical Allowed Progression : Yes Namber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Craestion Labes] - Multple Choite Juestion

3 i il L
The sum of bvo members 1= 45 and thewr difference 15 = of their sum. Theis
LCMis

g1 WAl w anTeE 45 B oown $ee e U9 A o é B g oo
AR B

{iptions =

2000
1

1aa

COuestion Number : 51 Question Id : 65E98E3040 Question Type : MOOQ Option Shoffling : Yes Display Question Number @ Yes
Single Line Question Opition @ Mo Option Orientation : Yertical Allowed Progression : Yes Moumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

gco! legedunias
Il ' L st Siusa et v Plalars
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Cuestion Label | Multiple Chowce Question
A badmunton plaser won 6 ganes and lost 4 The fraction of the games he won

s
o St Rl 3 6 e o o 4 BT SHE g ST T Al e B g

Options :

e ] mo Ik | s

1| ==

Chestion Number : 52 Question T ; 6589883941 OQuestion Type : MOQ Opdien ShalMing : Yes Display Question Number : Yes
Eim%: le%ﬂﬂg‘wn?ﬂhm ¢ Mo Option Orientation : Vertical Allowed Progression : Yes MNomber of Replay : 999 Play On Laood :
vy Cant mable : Yes

Correct Marks : 3 Wroag Morks 5 1
Question Label ; Multiple Chowce Question

Find the value of 35>

5

Ouiestion Number : 53 Question Id ; 658988302 Question Type : MOQ Option Shulfling : Yes Display Question Number ; Yes
Emgll'_:r E.im%m;lmn Opdion ; N Ohption Orientation : Yertical Allowed Progresion : Yes Nomber of Fay 2 999 Play Om L :
W Conl nable

Correct Marks : 3 Wrong Marks ; 1

Cuestion Label - Multiple Chotce Question
Find the nussing number

q R w h

8.7 . i
—H-—t ==
7 1279

gcol legedunias
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Opiions =

ok | 1

et | i

£ |

P |

Cuestion Number : 54 Question Id : 6359883043 Cuestion Type : MOQ Option Shoffting : Yes Display Cuestion Number @ Yes
Single Line Question Option : No Option Orientation : Vertical Allvwed Progression : Yes MNumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Question

If 16% of 40%: of a number iz 3 then the number iz
ufy v A W 40% P 16% S & a0 wem @

Opilons =
200
1.

"I"}S

Al

Oestion Number : 55 Question Id : 6589883944 Question Type : MOGQ Opdlon Shoffling @ Yes DMsplay Question Mumber @ Yes
Single Line Question Cpilon @ Mo Option Orientatlon @ Vertical Allowed Progression : Yes Number of Heplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label | Multiple Choice Questicn
The average tu’elgj‘l.l of 35 students 1 a class of 35 LB It the teacher 1= alsa
mcluded, the average weight mereases to 3o kg The wesght ot the teacher is
ufe wan A 35 SR @ siret W 35 (e #1 afE fee @ § ool B smn g
o sl e agan 3o fmo g s # | M o e B
piions =

3o ke

3o (¥

I_I-\J ]
o
- 5
Hw

gcol legedunias
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70kg
3 m i-.'FI“I-r

71kg
71 Fime

COuiestion Number @ 56 Question Id : 65R9BE3MAS  Question Type : MOQ Option Shoffling : Yes Display Questlon Number @ Yes
Single Line Question Option @ Mo Option Orientaton @ Yertical Allowed Progression @ Yes Momber of Replay 1 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Muiltiple Choice Cuestion

The ratio of number of nales to nunber of fenales i a club is 7 - 4 IF there are
84 males in the club, the total number of members in the club is ;

qor A yEd o e O APens o dEm o s 7o 4 B ulR aew g 34 g
BT wEEn W e e g

{ipiions =

Cuestion Number : 57 Question Id : 6589883046 (Questbon Type : MOOQ Optlon Shaffling : Yes Display Questlon Mumber : Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progresion @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label : Multiple Chowce Question

In a business, A, B and C invested Ra 330, Rs. 400 and R 420 respectively
Davide net pratit of R2. 150 among the partners :
UE T A A, Bwd C 7 e o 380, To 400 U Fo 420 Frm fm an) s
7 o 180 W T o A feem
Options =

av, o, a3
L.

gcol legedunias
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Ouestion Number @ 58 Question Ld : 6559883047 Question Type : MOGQ Optlon Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Na Option Orientation @ Vertical Allowed Progression @ Yes Momber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Guestion Label | Multiple Chaice Guestion

The ratio bebween the ages of Amar and Kabir at present is 2 © 3. After three
vears, the ratio of their ages will be 3 - 4 Find the prezent age of Amar i vears
T A PR UG AR O UW o ATy aFEm 2 0 3 B AW 7 F Aam 5 98 W
SATRT 3 0 4 BT | S o W on Ol d s i

Oiptions :

1 o]

4. Data insufficient {TIRET ST

Ouiestion Number : 59 Question Td : 6S89EE3I0E Cuestion Type : MOQ Optien Shulfling : Yes Display Question Number : Yes
Eingg !.im%ues;lhn %pthm Mo Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load -
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Choice Cuesticon

Two equal glasses filled with mixtures of alcohol and water in the proportions
ot 2: 1 and 1 : 1 respectively were emptied mnto a third glaszs, What is the
proportion of alchohol and water in the third glass ?

apEpTEs] wur WA o e s g e e on s e 2 s 19l 1@
forer dtere Frome 9 et fen omon # ) e ftomer 9 acewed of o=l @ s
B 7

Oiptionns =

2:5
1

|
kel

Ouiestion Numlber @ 6lF Question Dd : GSE9EEA0Y (Questbon Type : MOQ Option Shaffing : Yes Display Question Mumber @ Yes
Single Line Question Chpdion : No Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On L -
Mo Control Enable = Yes

Correct Marks : 3 Wrong Marks : 1

Cruestion Label © Multiple Choice Guesticn

If the rent of grazing 40 goats for 20 days 15 Rs, 370, how many goats can graze
for 30 days for Rs. 111 2

nft 20 @ & e 40 gl o e o fiem e 3708 W e 111 A 30 R @
for fme apiem |7 W & 7

gcollegeduniaa
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11

14

Number : 61 Quoestion Id : 6559883950 Cruestion Type : MOQ Option Shuffling : Yes Display Question Mumber : Yes
Single Line Question Option @ Mo Option Orientation : YVertical Allvwed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Yrong Marks : 1
Cuestion Label - Multiple Choice Question
Rany, Shyam and Mohan ean do a piece of work m 12, 15 and 20 day=
respectively. How long will they take to finish it together ?
I, T A WEE o 12, 15 vd 20 @A 0 v o o 0w # | g9 uaene
e e @ fae g o o e s e @
Options =
12 days

“ ':.
i 12

14 davs
HiEa

3 davs

5 days

=
4,HT-|

Cuestion Number ; 62 Question [d 3 6580883951 Question Type : MOQ Option Shoffling : Yes Display Question Number @ Yes
Single Line Question Crption ;: No Option Orientation ; Vertical Allowed Progression ; Yes Noamber of Beplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label - Multiple Choice Question
A cistern is filled in @ hours and it takes 10 hours when there iz a leak in its
bottom. If the cistern is full, in what time shall the leak enyptirit 7
g Tl 9 O =R Ao o B oo ome 10 = oeRn OB on eed e 9 9 Brn B
ute @A @ w0 W 8 o e w5 v ge wne e 7
Options =

G0 h
y SO

gcol legedunias
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Sih
03 5

92 h

3 Q2 £

o9l h
o1 7a

Ouestion Number ; 63 Ouoestion Ld : 6580883952 (Questinn Type : MOOQ Oplion Shaffling : Yes Display Question Namber @ Yes
rs;ingll_; Li:lr',l%nﬁ;lhn gpl*'run i Mo Option Orientation ; Yertical Allvwed Progresson ; Yes Hnmh-ruliephy 3999 Play On Load :
v Unmt mnble : Yes

Correct Marks : 3 Wrong Murks ; 1

Cuestion Label - Multiple Choice Question

A watch costing Rs. 250 has been sold for Rs, 300, The percentage profit was
s Wl A o wo 250® T wo 3009 e e & | v we e

Options ;

l_m

K
o I

2
lo=
3 o

i
an

Ouestion Number @ 64 Quoestion Id : 638988353 (uestion Type : MOQ Option Shullling : Yes Display Cruestion Nomber @ Yes
Single Line Question Option : No Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
CQuestion Label : Multiple Choice Question
What is the equivalent discount of the 20%, 10%, 5% dizcount series ?
20%; 10%, 5% weer Ao w W e @ 7
Options :
35
L

gcol legedunias
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Ouestion Number : 65 Question Ld : 6589883954 Question Type : MOGQ Option Shuffling : Yes Display Cuesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Question

A train 100 meters long running at 36 km/h can cross a bridge 150 meters long
in

100 #icy &@ T ¢4 30 frfo,/ Ao wower 3@ B W 150 Aoy @ gE moaT e
A T W o aee B 7

Oprions =

s

X vy

2535
25 e

155

15 AFma

22=

22 s

Cuiestion Number @ 66 Question Id : 6589BE3955  (Question Type : MOQ Option Sholfling : Yes Display Questlon Number @ Yes
Single Line Question Option @ Mo Option Orientaton @ Yertical Allowed Progression @ Yes Nomber of Replay 1 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Crestion Label | Multiple Choice Question

It R 1,200 amovnts to Bz 1,440 in 5 yvears at sunple mterest, the rate e poa s
e o 1,200 %memeer @A 2 5au § Bo 1,440 % a9 § wmn £ 69 % ukan §

Oiptions =

3 107

2%

Cuestion Number : 67 Quoestion [d : G5389883956 Question Type : MOQ Option Shoffling : Yes Display Question Mumber @ Yes
Single Line OQuestion Cption @ Mo Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Lab«El - Multiple Choice Cuesticn

collegedunia:
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The quantity of water (in ml) added to reduce the strength of 9 ml of an after
shave lotion, from 50°: alcohol to 30% alcchal, 4= -

O fAelie Ay a9 NIE T AEEA B A 0% AEEEH 1 0% SRS 0% 9
awe W [ mifm arn (Fefe =) o 9 8

Oiptings :

P

1.

a1

Crestion Number : 63 Question Td : 65R0BEIPST Cruestion Type : MOOQ Option Shuifling : Yes Display l}umhm Mumber : Yes
ﬂﬁ; Lt::l%m]:lwn Orplion : Ne Option Creientation ; Vertical Allowed Progression : Yes Nomber of Replay - 999 Play On Lodad -
anl nhle

Correct Marks : 3 Wrong Marks : 1
Question Label - Multiple Choice Question

A boat can travel with a speed of 13 km/hr in still water. If the speed of the
stream is 4 km/hr, find the time taken by the boat to go 65 km downstream.

UH g w6 g0 9 A4 13 fE/de @ onfa @ oamn & owedl 21 3l s @
e 4 e /e @ o am @ = A 68 R @ e @ § A @ e
T ?

Options :

2 hours
1.2 e

3 hoars
o 3 HE

4 hours
3 4 e

5 hours
4 5

Crestion Number ; 69 Question Td ; G38Y8R39SE Question Type : MOOQ Optien Sholfting @ Yes Display Question Naomber : Yes
iiﬂnglcil..im: %:;sgliun ?ptmn Mo Option Orientation @ Vertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Lood ;
J ntrod e Vs

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label @ Mudtiple Choice Question

gcollegeduniaa
Il ' L st Siusa et v Plalars
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In a large retail store employing 556 personnel, approximately 56% are females.
Of the female employees, ﬂppmxj.m.atel}' 62% are aged between 43 and 60. How
many employees are females and aged betvween 43 and 60 ?

UF 42 QW gawel A 556 dfaw ¢ o e 56% s # | wfien sdefal
AW TAMHT 62% T FH 43 W 60 F A\ 2| U9 HHENA @ TN qor @
Afeemd & e Rl oy 43 H 60 & 49 8 7

Oipliogs :
1 225

Ohestion Number : 70 Question Ld @ 65898E3959 (uestion Type : MOQ Option Shulfling : Yes Display Question Number : Yes
?:ﬂng'lie I,tm(%lule:;‘hn gpﬂm + Mo Option Orientation : Verthcal Allowed Progresdon : Yes Number of Replay : 999 Play On Load -
v Cont e: Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Muiltiple Choilce Cuestion

On returning from a business trip an executive has remaining 250 German
Marks and 478 French Francs. If the exchange rates are 3.24 marks = <1 and 99
francs = £1, how much British money wall she receive for this currency ?

U OaEiid 4R 4 ofed @ WAy U Wedd & O 250 THA Ae s 473
el b aud 21 af R 9 324 A9 = <1 W99 Bw = £1 B W w9
T 491 g% &1 @ a5l (ol Wics gard fFe 7

Options =

1 £125.44

5 £77.16
5 <4828

4 £111.26

Question Number : 71 Question Id : 6389883960 (ruestion Type : MOQ Option Shuffling : Yes Display Cuestion Number : Yes
Single Line Qunestion Cplion @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks @ 1
Cuestion Label - Multple Chotce Ouestion
A person lost 10% when he sold goods at Rs. 153. For how much should he sell
them to gain 20% ?
U oafad fl @eg @1 153 o H qmen & 6 99 10% W1 "ier €6 € | 91 99 O
®1 fbem o § 49 foree 99 20% @ @ € 7
gcollegedunias
Il ' L st Siusa et v Plalars
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{ 204

Frat
N
=]

240

4 210

Ouestion Number ; 72 Ouestion Ld : 6580883961 Questinn Type @ MOOQ Oplion Shulfling : Yes Displa

Quiestion Nomber @ Yes

Single Line Ouestion Cption ; No Option Orientation : Yertical Allowed Progression ; Yes Nnmhtrulitph} 3999 Play On Load :

Mo Contred Enable @ Yes
Correct Marks : 3 Wrong Muarks ; 1

Cuestion Label - Multiple Choice Swestion

When a shop keeper sold 2/3 of an item, he got the cost price of the whole lot.

What iz the percentage of lus profit ?

9H UF gwerR UE 9w @ 2/3 (8 fOEE) & 99 B o 99 99 aw @ Wme
L G B [ B I A B G E LGB Y (G i 2 L L

Oipiions :
;. 331/8%

5 662/3%

25%

4 30%

Section Id :

Section Mumbwer :

Section fype :

Mandatory or Optional:

Number of Qoestions:

Number of Coestions o be attempled:
Section Marks:

Drisplay Number Panel:

Giroup Al CQuoestions:

Spb-Section Mumber:
Soh-Section Id:

Omestion Shuflling Allowed :

Sec |V Econormics

ASEOEELS
4

Cnline
Mlandatory
24

24

72

Yes

Mo

|
ASEDRESS
Yes

Cuestion Number ; 73 Question [d ; 6589883962 Question Type : MOQ Option Shuffling : Yes Display Question Number @ Yes
Single Line Question Cption : No Option Orientation : Yertical Alowed Progression ; Yes Nomber of Replay : 999 Play On Load :

N Control Ennble : Yes
Correct Marks : 3 Wrong Marks : 1

~

-
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Cuestion Label | Multiple Chowce Question
. 400 -
It the demand function is ===, what will be price elasticity of demand at
!

P = 20 unik 7

= -Lm ) I alde | = Dy i g '
nfE s g x=—— 8 W T O AT Am ol e p = 20 g 99 am ed)

F_'I

Opilons =

Pg =0
E -
i X

Less or greater than unity
(g & &1 W e
. &

COuestion Number @ 74 Quoestion Id : 6589883963 Cuestion Type : MO Option Shuffling : Yes Display Question Number @ Yes
Single Line OQmestion Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cueston Lake] @ Multiple Chowce Caeshion

If MR = 15, AR = 20; what will be price elasticity of demand ?
nfd MR =15, AR = 20; #1 ar ®reg & aier |y oft |re aen #@oly 7
Options =

Unity

Eofi 1

Less than unity
o Dl

Infinity
=

Cuestion Number @ 75 Question Id : 6589883964 Cuestion Type : MOOQ Option Shoffling : Yes Display Cuestion Mumber @ Yes
Single Line CQuestion Option | Mo Option Orientation : YVertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Yrong Marks @ 1

Zuastion Label - Multiple Choice Question
I the lonig ran

HETE A

Uiptions :

gcol legedunias
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variahle costs will be less than fixed cost
L, e o fee ama @ am el

variable costs will be greater than fixed cost
o Hiadl @ e @ e e

there will be only fined cost
2 e Rew AT B

there will be ondy variable costs
4. A aivE weE e

Cuestion Number : 76 Quoestion Id : 6589883965 (uestion Type : MOQ Option Shoffling : Yes Display Cuestion Nomber @ Yes
Single Line CQmestion Cption @ Mo Option Orientation : Vertical Allowed Progression : Yes MNomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Guestion Label - Multiple Chaice Question
When a = 0.85. § = 0132 in Cobb Douglas production function, the returns to
scaless:
e o =035 =052 %" E0ed IeNed Tor 0 €1 9 SenEd @ T #0
Oiptinns :
Decreasing

y O B0

Inceeasing
o W BHI

Constant

31'1“=-r-'

Fl:t_tinu'&umgmdﬂimden?m

4 TET WG G AR ET B

Ouestion Number : 77 Question Id : 4538988 Y966 (uestion Type : MOQ Optlon Shuffling : Yes Display Questhon Mumber @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression @ Yes Muomber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks: 1

Question Label : Multiple Choice Cuestion

The relationzhip betvween mtlabion and wnemplovment is
a2 o B B Tl G L

Options =

Poaitive

HAITHE

Negative
2. e AL

gcollegeduniaa
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Negative in short run but vertical in long run
5 ATEH L T R R s G R L

Mo relation

4 Y FE AR

Question Number : 78 Question Id : 6359883967 Cuestion Type : MOQ Option Shaffling : Yes Display Question Mumber @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Guestion Label - Multiple Choice Question

Which ane of the tollowing is not the instrument of Fiscal Policy in India ?
Fe=fafe 4 9 #s-en g sreenet A Rk B e ooy @ 2 7
Oiptions :

WVariation in taxation
1 qRTAT W g

WVariatiom in Govt. Expenditure
o HewT = # it

Vanation in Public Debt
3 s Ao afteE

Open Market Operations
4 T A o} i

ion Number ; 79 Question Id : 63898R96E Question Type : MOQ Option Shoflling : Yes Display Question Number ; Yes
Br':ungl'; Li:&%ﬂﬁﬁun gptmn No Option Orientation ; Yertical Allvwed Progresdon ; Yes Nomber of Replay @ 999 Play On Lo :
v Cont nable : Yes

Correct Marks : 3 Wroog Marks ; 1

Cuestion Label - Multiple Chowce Question

Which one of the following pair is not properly matched ?
Frefaftm w1 e g gatem T8 R 7

Ohptions :
Abzalute Ineome Hypothesz —  Eevies
y FiE s s T

Permanent Income Hipothezis - Hicks

5 R A ufeer fimm
Relative Income Hipothesis =  Duesenberry

g T 3T it BYAT
Lite Cvele Hypothes:s - Modigliani

4 T A i migfaarn

gcollegeduniaa
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Ouestion Number @ 80 Question Ld : 6559883969 (Question Type : MOGQ Optlon Shuffling : Yes Display Cruestbon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question
If the marginal propensity to consume is 0.8, what will be the govemment
expenditure multiplier and tax multiplier -
afty dwE S agir 08 B o WRwi @R e en @ YRR 9T A TR
22 Ll 1
Opfions :
Jde—
1 STEar—4

EI-.\:!"I-.I.
Sy

[

=5 e —d
=5 T —4

1l

4 i =3

43 i | e

Cruestion Number : 81 Question Td : 65898R39T0 Question Type : MOOQ Option Sholfting : Yes Display Question Nomber @ Yes
il:gl&l.m: l’%ul:.slrun gphun No Option Orientation : Vertical Allowed Progresion : Yes Nomber of Replay : 999 Play On Load :
niro] Enable :

Correct Marks 1 3 Wrong Marks : 1

Juestion Labal | Multiple Chowce Question

It the demand fanction is p= 400 — 4x, vwhat will be maxinwmn TR and when ?
afE AT wer p =400 - 4x L W SR W ST W T oe s

Opiions -

L0000 vt at ¥ = 50 vt

10,000 gw1g watsx = 50507E

20,000 wnit
20,000 sarg

15,000 wmit
g 15,000 sw7g

1200 undt at ¥ = 5 unit

4 1,500 gaE waElih ¥ =5 3WE &

Cuestion Number : 32 Question Id : 6589883971 Question Type : MOOQ Option Shoffling : Yes Display Question Number @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load -

Mo Control Enable : Yes
gcol legedunias
Il ' L st Siusa et v Plalars

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chotce Queston



- -

]

The given matrix is a |

L]

- ==

= el LAY

# e argfed B oom

W = OO g e 0D

Ciptions =
Square matrix
1 SRR |

Rectangular matrix

= AT SmEET

Dragonal matrix

3 frem smgfeal

Identiby matrix

4 T SrEpfEd

Ouestion Number : 33 Question [d : 6589883972 Question Type : MOQ Option Shuffling : Yes Display Question Sumber : Yes
ii;@t Ling Question Cyption © Mo Option Orientation © Yertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Losd :
v Control Ennble : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Labal - Multple Chowce Question

Which at the tallowing model is based on Canstant Saving Incone Ratio ?
A= a1 @ W e Re aee S aEaR W st E Y

Oiptions =

Kaldors

TFET

Plallips
o foEfEmn

Harrod
:-’-'ii'i_:-'

Leontief
[ p I el 13

Cueestlon Number : 84 Question [d : 6589883973 Question Type : MOQ Optlon Shoffling : Yes Display Questbon Mumber : Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :

Mo Control Enable : Yes
gcol legedunias
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Correct Marks : 3 Wrong Marks : 1



Cuestion Label | Multiple Chowce Question
Which ane property does nof hold good i nevmal prebability distribution
among the tollowing 7
T EEn Jes & fo Fesr 51 - v FEenmr wE FErE T
Oiptings :
Mean = Mode = Median

y T = T =

The distribution is svmmetrical
o FC ¥ E R

Area of the Normal Probabilitv Curve 15 equal to one

o T St S S TS o AV Enn B

The distribubion iz postively shew distribution
4 FeA weArorm Feeaey dow enr @

Ouestion Number ; 83 Question [d ; 65380883974 Question Type : MOCQ Option Shalfling : Yes Display Question Number : Yes
i;nﬂ&l.m: l’.i;lﬁl‘mn Chptine Mo Owption Orrientation ; Vertical Allvwed Progresion ; Yes Nomber of Replay : 999 Play On Lood ;
nirol [

Correct Marks : 3 Wrong Marks ; 1
Cuestion Labal - Multiple Chowce Cuestion

Redeliff Committes i= related to
ey o wEie
(hpiions =

Role of Central Bank
3 wer T o affeem o

Export Promotion
T WieaTEe A

Development of smrall scale industnes
@y FEm ® e A

Measurement of Peverts
4 TEET TS A

Cuestlon Number : 86 Question Id : 6589883975 (uestbon Type : MOOQ Optlon Shaffling : Yes Display Questlon Number : Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progresion @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
uestion Label : Multiple Choice Question

As per Act of SEZ 2005 a Special Economrie Zone miay be estahlished by
W 2005 afitfrm % SR, e anfde & fre g wie fem o aw 8 7

gcollegeduniaa
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Opiions =
Central Governuent Only

State Governument Only
o TG TF FWIRIT G

Individuals Only
Fere afiet g

All of them alone or in partnership
i L o e 2 LA e B

COuiestion Number ¢ 87 Question Id : 6589883976 Question Type : MOOQ Optios Shoffling : Yes DHaplay Questhon Mumber @ Yes
Single Line Question Option @ Mo Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Suestion Label : Multiple Chotce Queston

Which af the fallowing is nof true for MUDRA' Lid. ?
qal fafes o ded | B 4 @ oo ofkm T8 ¢ 7
Uipliions :

It is Refinance Bank
y T A A R

It provides loan facility to micro and small units
g B HET] ot i e e Y SIS o0 YEE e 8
It prepares the policy guidelines and registration and regulate Micro
Finance Institutions
7F wen fadin e & fog Sifed a9 & @ g9 oohed w9 et we
g
3

Mudra doez not pravide a card
4 TE1 WIS W e @

Oheestion Number : 38 OQuestion ld : 6589883977 Chuection Type - MOG Optien Shalfling © Yes Display Qruestion Namber : Yes
iiﬂmg Llna%ﬂﬂﬁun %punn & Mo Option Crefentation @ YVertical Allowed Frogression : Yes Number of Replay @ 999 Play On Lad :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label © Multiple Choice Guesticn

If a tax is buoyvant it means
afe v wv Sog # ey

Oiptions :

gcollegeduniaa
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Tax Revenie increazes with inereaze in Tax Rate
; TR T AGH & W B Ao agat B

Tax Revenue increases with decrease in Tax Rate
o W T ET WA O W wm
Tax Eevenue increases without increaze m Tax Eate
3mnmhmaﬁfﬁ*an-—.rﬁ1aﬂﬂ1?
Tax Revenue increases with better tax compliance

4 TET W HYIE W 7 Tored Ao 8

Ouestion Number : 89 Question Id : 65F98E3ITE (Question Type : MOOQ Option Shuffling : Yes Display Questlon Namber @ Yes
Single Line Question Cpiion @ Mo Option Orientation : Vertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label © Multiple Choice Cuesticn

Which ameng the following iz mot considered by Central Statistical Office
{C50) under Industrial sector while calculating National Income of India :
AT A SENATE &S A T ARERRE EEEA (Hlerseaio) BT I 3 W
o e g A mie T8 o
Options :

Transport

TTEITrE

Construction
Fepaor

Electnicity

4

Oestion Number ¢ 90 Question [d : 658988397 CQuestion Type : MOQ Option Shulfling : Yes Display Question Number : Yes
ﬁﬂ&l,m%méhn ?pﬂm £ Mo Option Orientation @ Vertical Allowed Progresion @ Yes Nomber of Beplay : 999 Play On Losd -
v Control Enable : Ve

Correct Marks : 3 Wrong Marks ¢ 1
Cuestion Label : Multiple Choice Cuestion

Tranzter Pavments are not included whale counting National Income because :
THTRE™ AT o A S TEn o b J@ e s i

Uiplions =

gcollegeduniaa
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They are payvments and not income
o e s

There iz noway az lohow to add them
FIH AP T W AT T a8

The are given by government and government income is not included
NE T B A O 8 O T o0 ST ImeTe TEl e

Thev will result in double counting
FYERT QROTH BT TR B

Chestion Number ; 91 Question [d ; G5R9BEI80 Guestion Type - MOQ Option ShalTing : Yes Display Question Sumber : Yes
Elm%: I.im%ﬁﬂ?nﬂﬂhﬂl : Mo Owption Orientation : Vertical Allowed Progresion : Yes NMomber of Rephy GO0 Py Om Lad =
o Cont 3

Correct Marks : 3 Wrong Marks ;1
uestion Label | Multiple Choce Question
WTO agreement an Agricullure 15 nol bazed on the follovang pillaz ?
wiit e gwgp oo waETon (e A oW 9w e amni @ e 7
Oiptions ;

Export Comnpetition
3 frare e

Domestic Support

o T, FHEATT

Inport Restriction
g T e

Market Arcess

HTE HEE
4 T A

Ouestion Number : 92 Question Id : 6389883981 (uestion Type : MOQ Option Shullling : Yes Display Cruestion Nomber @ Yes
Single Line Question Option : No Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Question Label | Multiple Choice Question

The manetary base for High Powered Maney 12 equal -
e TR R O AT amaT @ e R
Oprions =

Total Faveign Exchange Reserves ot KBl

{ ¥R dlo arge ® To Fred R aven ®

gcollegeduniaa
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Total Gold Rezerve ot RBI
o ¥Ro dlo aTfe ® wE w AR @

Taotal Government Securites held by RBI
#HRo dlo AEo BTN AARET T RS AiEgRen @

Total hiabilities of RBI
3o Mo Ao W W@ EeEiA] @

Ouestion Number : 93 Question Id : 6589883982 (uestbon Type : MOQ Optlon Shiaffling : Yes Display Question Mumber : Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progresion @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1

Suestion Label : Multiple Choice Question

Arcording to Rostow stages of growth which of the follovaing statement iz not
brue ?

e § i e 3 e A W wEam e e F@ e e

Oipiions =
There is technological backwvardness
P o kTt e e s

Most of the income comes from Agriculture and animal husbandary
arn s feen o o wpaeE @ wra g B

Gross domestic zavings are more than 5% but alwayvs low than 10%
WHE UIE] G 5% W wfw g @da 107 9 Bt #

Fanuly is the oost important social econonuc institution
i s g arfaT S e #

Oueestion Number : 94 Question I : GSEEEIRY (uestion Type @ MOOQ Option Shaffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation @ Vertical Allowedd Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

From the following which combination is mot matched ?
Frer § 9 ot wam & @ R 7

Opiions =

Arthur Levwds Dhaalistic Econonn-
£ e e ETIHTE Aoy

E. Marmis Managerial Theory of Firm
o Ho Hifty ot st fasm

gmllegedunias
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Adam Sauth Dhvazaem of Labous

g, T e "9 W e
Chamberlin Abhsence of Sales Cast
i frefir by wmrer o e

Cuiestion Number : 95 Question Id : 65R9BE3E  (Question Type : MOQ Option Sholfling : Yes Display Questlon Number @ Yes
Single Line Question Option @ Mo Option Orientaton @ Yertical Allowed Progression @ Yes Nomber of Replay 1 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Choice Cuestion

Which one of the tollowing items is mof mclhuded in the ‘mvizibles' on cumvent
arcount of the balance of pavment of India ?

e e e O R O 1 I e o O 1 O e
wfFEtom 8T e s 8 7

Oiptions =
l:n.rEiEn Travel
1, T A

Transportation
B S

Loans trom: foreign banks
o [oEeh &l @

Insurance
4

Ourestion Number @ 9 Quoestion Id : 63E9EEI9ES Question Type : MO Option Shuffling : Yes Display Cuestion Number : Yes
Single Line OQuoestion Option @ Mo Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label - Multiple Choice Question
Which of the following characteristics of classical economnists iz abzent in Neo
clazzical economust 7
Fresr A 1 aonfes suwiEd @ WEE A T i aemie o
e & 7
Options =
No Govemnment Interference
: TR EWEN O A B

Mo Monev Ilusion

5 HIG® W1 1 B

gcollegeduniaa
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Perfect Competition

Eqrﬁqﬁﬁvhﬁm

Fupply deternnes demand

4 9f At wr Pt el e

Sec W WA and Language English
=ection Id ; ASRNEERLG
mection Mumber : 1
Section type : Cinline
Mandatory or Optional: Ciptional
Number of Questions: 24
Number of (Qoestions o be attempied: 24
Section Marks: 72
Irisplay Mumber Panel: Yes
Group All Coestions: Mo

Suh-Section Number: 1
Suh-Section Id: ASRNERSG

Question Shuffling Allowed :

Yes

Ouestion Number 1 97 Question Id : G3E9EEI9E6 Question Type : MOQ Option Shuifling : Yes Display Ouestion Mamber @ Yes
Single Line Question Option ; Mo Option Orientation ; Vertical Allvwed Progression @ Yes Nomber of Replay ; 999 Play On Losd :

Mo Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1
Crestion Label @ Multiple Choice Cuestion

Inn the following questions, the first and the last parts of each sentence are numbered
1 and 6. The rest of the poasts, named B, €, D and E, are not m their proper order
Select the comrect combination given atter each of the question:

The availabality of electnic power
would make a tremendous difference
tobe i:np:m‘ed

to the countryside

and enable rural econonm:

e mgNner

in varions directions

Oiptions :

1 BCED

- BDEC
. EBCD

.qEECE

gcol legedunias
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Ouestion Number : 98 Question Ld : 6589883987 (Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label | Multiple Choiwce Cuestion

In the follovang questions, the fust and the last parts of each sentence are numbered
1 and 6. The rest of the parts, named B, C, D and E. are not m their proper order
Select the correct combination given atter each of the question:

A mam 15 bom alone

good and bad

he experiences the
and dies alomes, and

consequences of

Mmoo e -

his artioms alooe

Options :
DCBE

o

1L

Chuestion Number : 99 Qoestion Id : 658YEE3Y8E Question Type : MOQ) Option Shoftting @ Yes Display Cruestion Somber @ Yies
Single Line Question Option : No Option Orientation : Vertical Alowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Guestion Label - Multiple Chaice Question

In the tollewving sets of analogies one word 15 massing. Select the word to complete
the analog

Breeze : Cyclone : - Dnzzle

Oiptions =
3 Earthguake

Storm
2.

Flood
3

i Dovmpour

gcol legedunias
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Cuestion Number @ 100 Question Id : 6589883989 Cuesthon Type = MOCQ Option Shoffling @ Yes Display Cuestion Nomber : Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

In the following sets of analogies one word is nussing, Select the word to complete
the analogy
Bread - Yeast: : Cud !

Oprions =
i Fiangd

5 Germs

Bartera
3

Virus

COueestion Number ¢ 101 Qoestlon Ld : 6589883990 Cuestion Type = MO Opthon Shuffling : Yes Display Question Namber : Yes
Single Line Question Chption @ No Option Orientation @ Yertbieal Allowed Progression @ Yes Number of Replay @ 999 Play On Load :
Mo Cantrol Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Multiple Choice Cuestion

In the following sets of analogies one word is nuzsing, Select the word to complete
the analogy :

Earth : Axis - : Wheel

Oiptions =
Hub

Tyre

Oueestion Number @ 102 Question T : 65RUBEX0RT Quiestion Type : MOQ Option ShulTling @ Yes Display Cheestion Number @ Yes
ﬁin;;t !.lm??uamhn $WM| + No Option Orientation : Yertical Allowed Progression : Yes Noinber of Replay : 999 Play On Laoad :
o Cont nable : Yes

Correct Marks : 3 Wroong Marks ¢ 1
Suestion Label | Multiple Choice Question

Select the word nearest in meaning to the given word
Knotty |

Oiptions :

gcoilegeduniaa
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; Myzterious

" Termble
Contuzn
3, L

Difficult
.

Ouestion Number @ 103 Quoestion Ld : 6589883992 Cuestbon Type = MOQ Option Shuffing : Yes Display Question Number : Yes

Single Line Question Crption © No Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Question Label : Multiple Choice Question
Select the word nearest in meaning to the given word

Eetaliation :

Opiions =
Cornpensation

2 Advance
Eeven
3 ge

Attack
4.

Ouiestion Number : 104 Question Td : GSR9BEA93 Cuestion Type - MOOQ Option Shalfling © Yes Display Question Number ; Yes
Single Line OQuestion Cpdlon : No Option Orientation @ Yertical Allvwed Progression @ Yes Nomber of Replay 2 999 Play On Lawd :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ;1

Question Label ; Multiple Chawce Question

Select the word nearest in meaning to the given word

Lernent

Orplions ;
Cruel
i.

gcoilegeduniaa
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4. Rough

Omestion Number ; 105 Question Id : 638988399 Question Type : MOOQ Option Shuffing : Yes Display Question Namber © Yes
?‘Lngl.r Line {Enrsl:l'liun $pliun 1 Mo Owption Orientation r\'rﬂh'mlhmﬂi Progression : Yes Nomber of Ichhtr 299 Phay Om Lo :
i Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label - Multiple Chotcs Question
Select the correct opposite in meanng to the given words

ANATIOE

Oytions -
i Crenerozhy

3 Cupadity

3 Comzervation

i Indulgence

Ouicstion Number : 106 Question Id 2 6589883995 Question Tyjpe : MOQ Option Shuffling @ Yes Display Cheestion Number : Yes
Elngllé: !.Im{%ueﬂun $|H|-l.'rll i Mo Option Orientation ; Yertical Allowed Progression : Yes Namber of Replay : 999 Play On Laoad :
v Cont ‘nmable : Yes

Correct Marks : 3 Wrong Marks : 1
Cmestion Label - Muitiple Chotce Question

Select the correct oppaosite in meaning to the given words
Radiate :

Opiions =

i Conl

Absarb
2.
n: Approach

Tarmizh

Orestion Number : 107 Qoestion [d : a5RYERI%6  Question Type : MOOQ Option Shuffling : Yes Display Question Number @ Yes
Single Line Question Option § Mo Option Orientation : Vertical Allowed Progression @ Yes Mumber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks: 1
Cestion Label - Multiple Choice Cruestion

Select the corvect opposite in meaning to the given words

Facilitate

gcoi legedunias
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Opiions =
Expiate

Imped
gy TR

Further
3

Cuiestion Number : 108 Quoestion Id : 6589883997 Cuestion Type : MOCQ Option Shuffling : Yes Display Question Nomber @ Yes
Single Line Question Cption : Mo Option Orientation : Vertleal Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuiestion Label : Multiple Choice Cuestion

Select the correct mearung of the given idiomatic expresszans !
A snake in the grass

Options :

s Not a reliable perzon

A secret agent
5 2E

A very poisonous snake

Anunrecogrured enemy
4,

Ouiestion Number @ 108 Quoestion Td : 6589883998 Cuestion Type : MO Option Shuffling @ Yes Display Question Mumber : Yes
Single Line CQuoestion Option | Mo Option Orientation : Vertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Zuestion Label - Multiple Choice Question
Select the correct meaung of the given :dicmabic expressions !

Ot and out

Oiplions :
i Slightls-

Aderely
5 Partially

4 Canpletely

gcoi legedunias
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Cuestion Number @ 110 Quoestion Id : 658988399 Cuesthon Type = MOQ Option Shoffling @ Yes Display Question MNomber @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Select the cormrect mearung of the given idiomatic expressions -

To steal a march

Options =
i To outshane

. Tostart easly
=
. Toovertake

To comamamd

Cuestion Number : 111 Question Id : 65B9R84000 Cuestion Type : MOQ Option Shoffling : Yes Display Question Number @ Yes
Single Line Question Option @ o Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuesnon Late] - Multiple Chowe Question

Fill s the hlanks with the coevect word

Most of the students1were . oovoins, at the hunchon

Opiions =

attending
1

prezenl‘

assermble
= 2

making
4.

Oueestion Number @ 112 Question Ld : 6589884000 Cuestbon Type = MO Option Shoffling @ Yes DHsplay Question MNamber @ Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression @ Yes NMuomber of Heplay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label - Multiple Chowce Cuestion
Fill in the blanks vath the correct word -

Most of these banks willbe .. ....._...... branches in our city
Oiptiogs :

gco! legedunias
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, Sewng

o making

3 P

citktin
gy T

Ouestion Number : 113 Quoestion Id : 6589884002 Cuestion Type : MO Option Shoffling @ Yes Display Question Number @ Yes
Single Line Question Cption @ o Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : |
Cueston Late] - Multiple Chowe Question

Fill in the blanks with the correct preposition :
Iwill come tosyour house . ............. Sunday
Oiptinns ;

on
L

4%
within
3

for

Cuestion Nomber : 114 Question Ld : GSRYERI003 ODuestion Type : MOOQ Option ShalTling : Yes Display Question SNomber : Yes
i‘_ijngl: l.i::l??m':lhn?pﬁm : Moy Option Orientation : Yertical Allowed Progresion ; Yes Nmnherul'l{ephrp 1999 Play On Lood :
Cont iable : Yes

Correct Maorks : 3 Wrong Marks 3 1
Cuestion Label | Multiple Choice Question

Fill in the blanks swith the correct preposition :
The house was burgled ... ... thee naglit
Oipiions =

at

1

gcoi legedunias
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Cuestion Number @ 115 Question Ld : 6589884004 Cuestion Type = MOCCQ Option Shoffling @ Yes Display Question MNomber @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Dut of the given altematives, choose the ane which can be substituted for the given
words

A remedy for all diseanes :
Oprions =
i Inhaler

Panacea
= Cough svmup

i Medicine

Question Number : 116 Question 1d : 6589884005 Cuestion Type = MOOQ Opthon Shuffling @ Yes Display Question Number @ Yes
Single Line Question Cplion @ No Option Orientation : Vertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks @ 1

Cestion Label © Multiple Chowce Question

Dt of the given altermatives, choose the ane wluch can be 2ubsthited for the given
wends

Wards written en the tomb of a dead person :

Cipilons =
i Epigraph

o, Epilogue

Epitaph
5 pFatag

F Etvmnlogy

Oniestion Number @ 117 Qoestion ld : 6589884006 Cuesthon Type = MOQ Opthon Shoffling @ Yes Display Questbion Namber : Yes
Single Line Question Cption @ Mo Option Orientatlon @ Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Laoad -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Question

Dut of the given altematives, choose the ane wiuch can be substihuted for the given
words

A person whase job is to fit glass into the frames of windows, ete.

Opiions =

gcoilegeduniaa
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i glazwegian
lasshlower

5B ’
glinumer

glazier

Ouestion Number @ 118 Question Ld : 6589884007 Cuesthon Type = MO Option Shoffling : Yes Display Question Nomber @ Yes
Single Line Question Cption @ Mo Option Orientation : Verteal Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Cuiestion Label | Multiple Choice Question

Dut of the given altematives, choose the ane which can be substibuted for the given
words
Aay absolute government by ooe mmon ;

Oprions =
hetasmooiacy

aulocracy
andnocracy

4 barbarocracy

Ouestion Number : 119 Question 1d : 6589884008 Question Type = MOQ Optlon Sholfling : Yes Display Question Mumber @ Yes
Single Line Quoestion Opiion @ No Option Orientation : Vertical Allovwed Progression @ Yes Momber of Heplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chowce Cuestion

Identify the part of the sentenice having an eror :

Oiptions :
i Tell me

5 what are vour subjects
3 for appeanng

at the civil services examination

gcollegedunias
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Ouestion Number @ 120 Quoestion Ld : 65898340089 Cuestion Type = MOQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cestion Label | Multiple Choice Question

Identfv the part of the sentence having an emor
Cipiions =

\ Heaswellazl

5 are goung to Allahabad

4 for a holy dip in Triver

F the dav / after tomorone

sec V VA and Language Hinds

Section Id : HARGREST
Section Mumber : fi
Section type : Online
Mandatory or Chptbonal: Cipeional
MNumber of Questions: 24
Number of Questions to be attempted: 24
Section Marks: 72
Dvisplay Mumber Panel: Yes
Group All Questions: Mo

Sob-Section Mumber: |

Sob-Section Id: AEEOEEST

Duiestion Shuffling Allowed = =

Ouestion Number @ 121 Question Id : 6589884000 Cuestion Type : MCQ Option Shuffling : Yes Display Question Number @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
No Control Enable @ Yes

Correct Marks : 3 YWrong Marks :
Cuestion Labeal @ Mudnple Choice Ouestion

wEr Al e 7
Opilons :

i)
1.

kel
2.

Fferamed

collegedunia:
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Cuestion Number ¢ 122 Quoestion Id @ G5E9884001 Questbon Type @ MOQ Opthon ShofTing : Yes Display Question Nomber @ Yes
Single Line Question Cptlon @ Mo Option Orientatlon : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cuestion Label : Multiple Choice Question
1 | AR e g

Oipiions =

I |
1.

=
2

Ouestion Number : 123 Question Il : 6389884012 Question Type : MOQ Option ShofThng :© Yes DHsplay Question Number : Yes
hr;Im.'I:t !.Iml%uﬂg‘hn Epllnu ¢ Mo Option Orientation @ Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Lo =
v oot able : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label : Multiple Chowce Cuestion
g § gl o el g Y
Oiptions :

& |;:v[ o A J“l

T+ T
2

FEE] + ¥

Ouestion Number : 124 Question Id : 6559884003 Question Type : MO Option Shollling @ Yes Display Question Namber : Yoes
ifnng#- Ling Question Optisn ; Mo Option Orientation @ Vertical Allowed Progression : Yes Nomber of Replay ; 999 Play On Losd :
v Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Latesl | Multiple Choice Cuestion

b R ls s B ol o s 1
Oiptions =

AT
1.
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Quiestion Number : 125 Question Id : 6589884004 Question Type : MOCOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Cpiion @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Cuiestion

fe=ft som famm Rl & Gt omgr & 7

Oipiions =

lmﬁt!

e T

B |
3

PIET

Ouestion Number : 126 Question Td : 65RUEEI015 Question Type : MOOQ Option ShufMing : Yes Display Cuestion Nuimber : Yes
ﬁing'l:f !-lm??uumhngpﬁm + No Option Orientation : Yertical Allowed Progression @ Yes Noinber of Replay : 999 Play On Load -
o Cont mable @ Yes

Correct Marks : 3 Wrong Marks : 1
Cestion Label | Multiple Choice Question

=it a1 @ v T T E 7

Options :
|
L

Al

Ceestion Number : 127 Question Id : GSRYSR4016 Question Type @ MOOQ Opticn Shafling : Yes Display Question Samber © Yes
Single Line Cuestion Crption : Mo Option Orientation : Vertical Allowed Progresson ; Yes Number of Replay : 999 Play On Logd :
Mo Contred Enable : Yes

Correct Marks : 3 Wroog Marks ; 1

Cuestion Labe] © Multiple Choice COuestion

o U R 1 3 I 1

gcnilegeduniaa
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Opiions =
I

g

i
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Cuiestion Number @ 128 Quoestion Id : 6589884007 Cuestion Type : MOCQ Option Shuffling : Yes Display Question Nomber @ Yes
Single Line Question Cption : Mo Option Orientation : Vertleal Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chowe Question

e b B P e U e B 1

Cipiions =

I_T.-f';:

I

T
TR

TITHETTE

Omestion Number : 129 Question [d : 65R9BB4008 Question Type © MOOQ  Option ShulMing : Yes Display Cuestion Number : Yes
ﬁing'l:l.: !.l:‘??ux.%iun gpﬁnn + Mo Owption Orientation © Vertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
o Cont mable : Yes

Correct Marks : 3 Wrong Marks 1 1
cmestion Label | Multiple Chowce Cuestion

AT - 9 S o
Options :

-

1
1
=
S

T

Crestion Number ; 130 Question Id : 6589884009 Question Type : MOOQ Optisn Shoffling @ Yes Display Question Number @ Yes
Single Line Ouestion Option ; Mo Option Orientation ; Yertival Allowed Progresdon ; Yes Number of Replay : 999 Play On Load :

Mo Controd Ennble : Yes
gcnilegeduniaa
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Correct Marks : 3 Wrong Marks : 1
iCueshon Label | Multiple Chowce Question

g4 1 Sy Ben e 2y

Options :
L]

TN

feragen
q,

Ouestion Number : 131 Question It : 6589884020 Question Type : MOQ Option ShulTling : Yes Display Cuestion Number : Yes
Eina'l:f I.lm??ut%hngpﬂmuﬂn Owption Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
o Cont ible @ Yes

Correct Marks : 3 Wroong Marks : 1
Cuestion Label | Multiple Choice Question

HHT 35 O [Brmm T 51 B-TT B ¢

Options :

HIAEI
A

Hi#

==

Cruestion Number : 132 (Juestion Id ; 6589884021 uestion Type : MOOQ Option Shuffling : Yes Display Question Nomber ; Yes
Single Line OQuestion Chptisn : No Option Orientation : Yertical Allvwed Progression : Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks ; 1
Cuestion Label - Multiple Chorce QuesSton

s i b £
Opiions =

e
I;

AR
2.

e
3
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Cuestion Number @ 133 Question Id : 6589884022 Cuestion Type = MOCQ Option Shoffling @ Yes Display Question MNomber @ Yes
Single Line Question Option @ o Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

T H WA CETET W T JEr E v

Cipiions =
49y
&

it
2.
i Tl

gt

Ouiestion Number : 134 Qoestion Id : a5R9884023 Cuestion Type < MOOQ Option Shalfling © Yes Display Cuestion Nuiniber © Yes
ﬂ:ﬁ? “'ﬁmﬁ"" 1[r‘.lpd,l.wn ¢ Mo Option Crrientation @ YVertical Allvwed Progression : Yes Number of Replay @ 999 Play On Lo :
ontrd Emabde = Yies

Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Multiple Choice Cugston
R ro i O T L LG O

Oiplions =

T
y o3

i L

Cruestion Number ; 135 Question Id : 6589884024 Question Type : MOOQ Option Shoffling : Yes Display Question Nomber ; Yes
Single Line Question Option : No Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Cuestion Labe] @ Multiple Chowce Cuestion

Lo [ B S L L O
Options :
i S |

A Ten
2
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Quiestion Number : 136 Question Ld : 6589884025 CQuestion Type : MOOQ Option Shulfling : Yes Display Cuestion Momber : Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
iCuestion Label | Multiple Choce Question

o Fb=1 B o B S O e 7
Oiplions =

AT
1

BN
HAHEM

AT

Chuestion Number ¢ 137 Question bd : 65RYER4026 Cuestion Type © MO Option ShulMing © Yes Display Cuestion Number @ Yes
Single Line Question Crption : No Option Orientation @ Yertical Allowed Progression : Yes Number of Replay : 999 Play On Lood -
Mo Controd Enable : Ves

Correct Marks : 3 YWrong Marks : 1
Cuestion Label  Multiple Choice Ouestion

fommd WA g g A R 9 A W

Uiptions =

SEH
1

2_I'-“T'Tpr

STt

g -

Cruestion Number ; 138 Question Id : 6589884027 Question Type : MOOQ Option Shuffing : Yes Display Question Number ; Yes
E‘inglr Line Quwtl'liun Oplinn : Mo Option Orientation : Yertical Allowed Progression ; Yes Nomber of Replay : 999 Play On Lood :
v Control Enable : Yes

Correct Marks : 3 Wroog Marks ; 1
Cuesnon Label @ Multiple Chowte OQuestion

froe o wmwe &, e A B gew m @ 7

Options =
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Question Number @ 139 Quoestlon 1d : 6589884028 Cuestion Type = MO Opthon Shuffling @ Yes Display Question Number @ Yes
Single Line Question Cpiion @ Mo Option Orientation : Vertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labke] @ Multiple Chowce Cuestion

e

Oiptions :

;. T Gl s

T T
TRET &=+ 11

4 T e

Omestion Number : 140 Question Id : 6389884029 Question Type © MOOQ Option ShofMing © Yes Display Question Namber @ Yes
Eim.'l:f !.im%ﬂﬁ;‘iﬂn Eplilrn i Mo Ohption Drientation : Yertical Allowed Progresion : Yes Number of I-Eeph:u} 2990 Play Om Lo :
o Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

TG N BT W MY 8

Options =
1 LR R

Sy O AYE W
=

5 3 i ERerrE

Ouestion Number @ 141 Quoestion Id : 6589884030 Cuestion Type : MOCQ Option Shuffling @ Yes Display Question Nomber @ Yes
Single Line Question Crption : Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Guestion Label - Multiple Choice Question
gcoi legedunias
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Options =
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COuestion Number @ 142 Quesiion 1d : 6589884031 Question Type : MO Option Shuffling : Yes Display Question Mumber @ Yes
Single Line Question Crplion : Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labe] @ Multiple Chowce Cueshon

=0 | A TR e ot sy 2 7
Oiptions :
" AR

5 i

2 SR I Ll

ST gET

Omestion Number : 143 Question Id : a3R9ER032 Question Type : MOOQ Option Shoffing : Yes Display Question Namber : Yes
ﬁing'l::r E.im%méiun $plim ¢ Mo Option Orientation @ Vertical Allowed Frogression : Yes Nomber of I-Eeph: 2999 Play Om Laood :
o Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label - Multiple Chaotce Question
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Options =

g IR

TR
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ATEATHE
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Cuestion Number @ 144 Question Ld : 6589884033 Cuestion Type = MOQ Option Shoffling @ Yes Display Question MNomber : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cestion Label | Multiple Choice Question
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Optiogs :
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